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The book has this as two steps, but I will show it as three for clarity.

	1. 
	Prove that P(1) is true.
	Substitute 1 into the function.

	2. 
	Assume that P(k) is true.
	This is the induction hypothesis.

	3. 
	Prove that P(k+1) is true.
	Complicated. Review the example below.


Example:

Let P(n) be the statement: 1+3+5+…+(2n-1)=n2

	1. 
	Prove that P(1) is true.


	1=12

	2. 
	Assume that P(k) is true. Nothing fancy here, just replace the “n” with a “k”.


	1+3+5+…+(2k-1)=k2

	3. 
	Prove that P(k+1) is true.


	Here we go!

	
	a) 
	Expand the equation in step 2 to include the k+1 term. Notice the original part is in its own set of square brackets.


	[1+3+5+…+(2k-1)]+[2(k+1)-1]=(k+1)2

	
	b) 
	The original part is equivalent to k2, so substitute on the left side.


	[k2]+[2(k+1)-1]=(k+1)2

	
	c) 
	Continue to simplify the left side.
	k2+2k+2-1=(k+1)2

k2+2k+1=(k+1)2

(k+1)2=(k+1)2



